‘ b) Phonetic stress
) Phonetic vowel d)Phonetic transcription .
English spoken by the people of is accepted as the Received|
Pronunciation. : 18
3 a) South - East England b) India [
| c) South Africa d) Australia
i In phonetic transcription, ___ symbol is used to indicate syllable division.
| 3 ) (1) Exclamation b) (') apostrophe Ll |CO2
c) (?) Question mark d) (.) dot
‘ 4 There are consonants speech sounds in English L1 lcoa
a) 26 b) 44 ) 24 d) 20
Vowel speech sounds are divided into Monophthongs and .
5 [a) Diphthongs b) Pure Vowels L1 |CO2
c) Consonants d) None of these
What is Phonetics? .
| 6 [a) Study of language b) Study of speech sounds L1 |CO2 ‘
‘ c) Study of grammar d) Study of animals f
Along with the speech sound, when air is released through the nose, it is ‘
7 |termed as sound. L1 [{CO2
a) nasal b) vowel c) oral d) fricative |
. g The following are fricative sounds, except rrileeh f
a) /§/ b) /s/ c) /k/ d) /z/
9 /0/ and /0/ are sounds. L1 lcoa
a) alveolar  b) glottal c) dental d) bilabial
IPA is the abbreviationfor __
10 ja) International phone Alphabet b) Internal phonetic Alphabet Ll |CO2 ;
c) International phonetic Alphabet d) Institutional phonetic Alphabet |
1 Which of the following is not an organ of speech? vl
a) eyes b) tongue ) lips d) vocal chord
The following words start with the consonant sound /tf/, except
12 1a) Champion b) Chameleon c) Challenge d) Children | L2 |COS
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CONTINUOUS INTERNAL EVALUATION - 2

30

A consonant cluster is a group of two or more________ sounds which have
no intervening sound in between them.

a) consonant, vowels b) vowels, vowels
c) vowels, consonant d) consonant, consonant

L2

CO2

31

The consonant cluster that is placed before the vowel sound in a syllable is
called v

a) onset b) rime c) nucleus d) coda

L1

CO2

32

In the word “squirrel - /skwir.al/” the speech sounds /1r/ is a

a) onset b) rime c) nucleus d) coda

L1

CO2

33

In the word “strengths - /stren0s/” the group(s) is/are Consonant
Clustey Ve Ceet  (egvecd

a) /str/ b) /n0s/ c) both /str/ and /n0s/ d) None of these

) 9.

CO2

correct location.

(Question No. 34 to 36) - Identify the transcription that shows the syllable boundary in the

Diploma '

34 [a) /d1.plau.ma/ b) /dip.loau.ma/ L2 |coa
c) /di.plaum.a/ d) /dip.loum.o/
Misspell

35 (@) /mi1.sspel/ b) /mis.spel/ L2 |Cco4
c) /miss.pel/ d) /missp.el/
Alphabet

36 [a) /eel.fa.bet/ b) /eelf.a.bet/ L2 | Co4
c) /ee.lfa.bet/ d) /eel.fab.et/
A vowel sound that consists of a movement or glide from one vowel to
another is called _

37 ; L1 €02
a) Pure vowel b) Diphthong
c) Either (a) or (b) d) None of these
A transcription that denotes the speech sound of a letter or a word

38 |is enclosed within brackets Ll |CcO2
a) slash // b) curly {} c) angle<> d) parentheses ( )
Identify the correct transcription for the given word-

39 Poem E2Z5ECOS
A. /pajem/ B. /pam/ C. /paum/ D. /pauim/
The number of syllables in a word is decided by the number of _ sounds

resent in it.

0 g) Speech b) Consonant Ll |CO2
c) Consonant Cluster d) Vowel
The nucleus of a syllable is always a sound.
a) Vowel b) Consonant Cluster

s c; Consonant d; None of these Ll |Co2
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